A B U 2 # B B
ITEFDEW — R BEX ERMANREKEARETIS
#H oL F £ KER
A K #®7 B 0 6% 98 128
A i B O BATHRT ATE 20288E
1 A+ (B M)
IH%D| HEELEOBWSXE [ A A R B (B KE) - ¥ fith ELEOBS EAL 248
& B % 73 =1 =0 b (FitkZ) X % % (BisA )
BRait 17F
HE s T FR RS
REmWE IE FE—ED 26,0010 R TETHBEED
EFEREIZ Kastt P 5. BEREELBASHEIA
REIMFE FE Tk — BTN EEEIEET S,
BAHER—oT HRE —
RKERB®Z HK FBE T
E%?%fﬁﬁ@; 28,000 BAHFR—YLY Htadt
CREEER B o AHFR-IVT K&
%691058 58,950,000 RFEEE BA HE 63,360,000
(328 En:FE)
1 TFEMEIE. HERIRETOEEETIEE
2 TAHEZE T AFLEBLARBEL BN FERLECHETIRETDL L) TcH
3 MEIEEFE T AILBLRBEL 2N FLELEEDI100D110IZHH U TILECHERIAANDEEE) TRE




69105

TEERET. BNRVBEOBFEBMERTHL. ( NCRERRORNELLHT 5.

2 THEE (B:)
ZHOHMEAO T 3 B B 2 # - % &
Z % B BER | BEXREHR|2H2HE — IEZ08B R I =T %= @\ B B = . T =
u & B = E3E B < &8 1+ 3 £ B H
# B Bl# B ®
LR L=392.674m
DIP-NSE ¢ 100 L=388.286m HIVP ¢ 100
. " L=1.630m HIVP ¢ 75 L=2.758m
BH6FIA17H 63,360,000| ##s%e8 178 |4 507538318 EJ’E”’" ERIRE
E B ®% O I 8
T E 2 WA T E &8 — I %0 % T = % 1 = A = ] =
& F|5x &
£ B Bl# A A
0
BAHER—YY Htsit E E % O I #
T E 2 B |bkETE zﬁiﬁ&a% == EQI$%0)*%FE T = % i = % 2 = =2
4 T
REIMBE HR B = 5 Al 8 o
0
T ®E % O I H
T ®E 2 HA * E & — IETZ DB AR T =3 % 1% = % -4 - =2
& F[x 3
£ B B|# B H
0
[EE EDFE]




